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Addition Adventure #12

Your kite has gotten lost in one of the trees. Use the clues from the problems below to
draw a path to find where it is.

1. 7 + _____ = 11 (W)

2. 8 + _____ = 9 (S)

3. 2 + _____ = 8 (W)

4. 9 + _____ = 11 (N)

5. 4 + _____ = 6 (E)

6. 7 + _____ = 10 (N)

7. 6 + _____ = 8 (W)

8. 4 + _____ = 7 (N)

9. 6 + _____ = 11 (E)

10. 3 + _____ = 9 (S)

11. 4 + _____ = 11 (E)

12. 8 + _____ = 10 (S)

13. 4 + _____ = 8 (E)

14. 3 + _____ = 11 (N)

15. 2 + _____ = 9 (W)

16. 6 + _____ = 7 (S)

17. 3 + _____ = 6 (W)

18. 6 + _____ = 10 (S)

19. 3 + _____ = 8 (E)

20. 5 + _____ = 9 (N)

21. 2 + _____ = 5 (E)

The kite is in the ____________________________________ tree.

N

S

EW

!


